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1 There are many ways in which water gets | 3  Bagassosis is caused by:
polluted. Identify which are NOT the causes '

of water pollution. (A)  Silica
1. Sewage : | (B) Sugarcane
2.  Industrial Effluents ' o C
3. Deforestation _ » 4G ottog |
4. Agricultural waste : : . (D) Coal
‘ 5. Smoke from volcanoes . . (B) Question not attempted
Choose the most appropriate answer from
~ the options given below: 'éfw@r&r‘v'r T %E% BT ﬁﬁﬂ g7
(A) 3 and 5 only ' o (A) ﬁ.ﬁ o ,
(B) 3,4 and 5 only : ’ o
~ (© Sonly : ' ‘ - (B) =
(D) 3 only | © @

(E) Question not attempted - | |
Wﬁmﬁ%w@a%%léwgﬁq (D) wrawn

P T Sl B . | (E) ogafa 5e
1. aifdq =« ‘
2. slenfre afesamdt .
3. o @ W ' 4  Which of the following is NOT to be done
4, By it ’ while preparing a patient for Heaith
5. vaenge @ oget ~ Assessment?
?ﬂ%ﬁqwﬁmﬁﬁﬁﬂﬁwmwm ~ (A) Draping
(A) ¥ 3RS | T

(B) ¥aw 3,4 6 5 (B) Positioning | |
(C) ¥aa 5 ' ’ © Emptying the bladder
(D) e 3 | Wl | B sicolbe |
(E) 3 e, ‘ o 1 - (E)i " Question not attempted

2 What can be the maximum score for e T A o e e % ferg ?ﬁﬂ'{
Glasgow Coma Scale for a fully conscious - B g T A | e e s ‘in'%\;f?
individual?
W%ﬁwﬁﬂ%wmmwamw @ S“"”(Drapmg)
37ep fopa & W ¥ 7 (B) crafafy (Positioning)
A) S5 "
B) 10 ©). ﬁwﬁﬁaﬁm -
© 15 | (D) Frm
(D) 20

(BE) orgaf@ wew

(E) Qﬁestion not attempted / ARG 9o

34GNM-1] A | -2 | |  [PTO.
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Which of the following drugs is given to the
patient to relieve from anxiety before
operation?

(A) Albendazole
(B)

©

(D)
(E)
At Y v fafee & g Rir | g
k5 g Prer & & i g e e 7
(B)

©
(D)
E)

Which of tt
gas?
(A)
(B) Chlorofluorocarbon (CFC)

following is NOT a greenhouse

(&3] Carl:%gn dioxide

(D) Ammoma

E) Questmn not attembted

Frefalaa B W ReeT g W 7

A)
(B) &Ry Wit #1€ (CFC)

)

T (e )

(E)

LA

Match List I with List II:

List I List 1T
(Physical Quantity) (Unit)

a. Power of a Lens ~ 1. Volt ampere
II. Kilowatt hour
c. Electric Power ¢ III. Diopter

d. Electrical Energy ;

g 1 % wmy g 1

b. Resistance of wi

. Volt ampere™!

a. @9 & &Har
b. AR & gAY

c. fomm sfm
d. Rmm st
Choose the correct
given below:

e g g el § @€ I & AT BRI

(A) a-l, b-1, c-IV, d-1I

(B) a-1V, b-III, ¢-II;>d-I

(C) alll b1V, c-IE «

(D) a-II, b-IV, c-1,

(E) Question not attempted / FANRT T
is not @"biotic component of

biosphere.

(A) Plants

(B) Animals

(C) Bacteria

(D) Water

(E) Question no

(A) @9
(B) ugy
(C) iy

(D) w=

(BE) i ue

[P.T.O.
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Identify the micronutrients from the

following:

1. Proteins
2. Calcium
3. Iron

4, Fats

Choose the most appropriate answer from
the options given below:

(A) 1 and 2 only
(B) 1 and 4 only
(C) 3 and 4 only
(D) 2 and 3 only
(E) Question not attempted

ﬁﬂﬁaﬁgaﬂ@rﬁwqﬁwaﬁﬁaﬁmﬁ

1. W&
2. ‘hfesram
3. e am™
4, 9qr

ﬂ%f&qwﬁrw@rﬁ@rw@rwmm
T BT

(A) %ﬁ'a?«rla?ﬁz

(B) Faw 1 3l 4

©
(D)
(B) orgafta ued

Who has been awarded Padma Shri award
2023 from Rajasthan?

(A) M. L. Lathar

(B) Ram Kishore Vyas

(C) Laxman Singh

(D)  Suresh Mishra

(E) Question not attempted
erciZOBaartma?rwr{wmmﬁﬁﬁé
I g3’

(A) TH. Td. qEY

(B) T fpaiR =g

(C) wemor Ri

(D) gar s

(B) orpafa ued

34GNM-1]1 A\
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A tiny finger - like structure which lies at
the upper junction of the two labia minora
above the urethral opening is called: '
(A) ‘Hymen :

(B) Clitoris

(C) Mons pubis

(D) Ampuila

(E) Question not attempted

T WY SUUE SRl HIE S AT % BT %
TR T AT AT B B GRrys 9
frag %, I8 w7 wed ¥ 7
(A) witresg (Hymen)
(B) wwew (Clitoris)
(C) == g™

(D) g (Ampulla)
(B) oraia uedt

In recently released “Global Innovation
Index-2023”, what is India’s position among
132 countries across the world?

(A) 30th (B) 35th

(C) 4oth (D) 52nd

(E) Question not attempted

aea ® ST fpe e Afyae TliwTor gawis- -
20237 ¥, fasa & 132 390 & @ 9@ 7 1 W
st feam 7

(A) 304t (B) 354t
(C) 40 =i (D) 52 =f
(E) ogat@ vsd

By the end of 24 weeks the foetus is

characterised by the appearance of :

(A) External genetalia and fine hair on the
body only.

(B) Fine hair on the body and eyelashes

‘ with separate eyelids.

(C) Fully developed organ systems.

(D) Limbs and digits.

(E) Question not attempted

| 24%%%5&6%“%1%%13#%&5@%}

IuRyfy wrd WA $ 7

(A) ee §T& ST qer Y I AT
(B) eTOX 9T T TAT JUF UAH! B Y YgH
(C) yofaan fefaa s o

(D) ot g Siyferat

(By orgala uew

[PT.O.
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14 Match List I with List IT : 15  Which of the following paraméters is used
List I (Action) List I (Hormone) to identify a malnourished child using WHO

. growth chart?
‘a. Increases blood I. Melatonin

glucose level (A) Head circumference for age

b. Increases blood II. Glucagon (B) Chest circumference for age
Ca** level (C) Weight for age
c. Regulates the II. Aldosterone (D) Waist circumference for age
body’s biological (E) Question not attempted
clock | | WHO gf o @1 s wcs B & @ fra
d. Contl_'ols water IV. Parathormone TR BT U GO g @7 qeE W aew
and electrolyte 7
- h;meo‘q’t:; : | (A) Mg R R @ aikta
1% Ty II &1 frem= &g - '
: (B) g STTER BIA B ARy
T () T 1 » o
Tk = INE (©) oy % sgem A
e & b | - (D) g % AR HX @ Uity
b @A A Cattwx Il TgmEm (B) srgafa we
BT I T . | »
c. R B Afw Ol geEiRed™ 16 Human heart is protected by a double walled
Rreesiesar & , membranous bag, known as:
frfia waar B (A) Pericardium
d. v« @ dEgg IV, FoareEs : (B) Endocardium
(electrolyte), (C) Atria
weedfRrn bl frifirr (D) Mesocardium
BT ¥ (E) Question not attempted
C‘hoose the correct answer from the options T e T T Pl wq_q - ﬁ'{ﬁﬁ
given below: : By RE wed %)

i few 7o Rrewedt # & ¥ 9eR @1 99 iR

(A) a-IL, b-IV, c-L, d-IIl (A) wmETfAREs (Pericardium)

B) al bV, oL d-II (B) sfmEsw (Endocardium)
(C) a-IV, b1, c-1, d-III (C) orfeiw (Atria)
(D) aIL, b-IV, c-I, d-I (D) s (Mesocardium)
(E) Question not attempted / sgafa us (®) omEfa uwe

34GNM-1] A 5 « [PT.O.
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Minimum distance required by a normal
human eye to see the objects clearly is:

(A)
(B)
(C)

D)
(E) Question m@t attempted

maﬂ%ﬁr%%qmw@ré@%%ma%
SR CUR S

(A) 30
(B) 40 &
() 25@h
(D) 20 &
E)

30 cm
40 cm
25 cm
20 -cm

the following is a

19

20

(B

GET IT ON
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Dr. Edward Jenner introduced ‘Vaccination’
after conducting experiments against which
of the following diseases?

(A) Typhoid
(B) Chicken pox :
(C) Small pox
(D) Measles
(E) Question not attempted

1. gse ﬁﬂ"{ 5 P 3-8 fopw T & e v

(A)
B)
©
D)
AN 99T

Which of the following diseases are Vaccine
Preventable Diseases under Mission
Indradhanush?
1 DPT
2 Hepatitis B
3. Hemophilus
4
5

Herpes
- Measles
Choose the correct ar
given below:
(A) 1,2and5 @«
B) 1,2,3and 4 ¢

(C) 1,2,3and 5
(D)
(E)

wer from the options

[BTO: °
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22

23

(©

(E)

In a muscle fibre the isotropic band contains
which of the following protein?

(A) Actin (B) Myosin
(C) Haemoglobin (D) Keratin

(E) Question not attempted :
@ﬁ&ﬁuagﬁm@aﬁt@ﬁﬁwﬂ@rﬁﬂ

G W g W ¥ 7

(A) ufRd (B) ==

©) #wirdfw (D) feeRw

®) o e

The separates the cerebrum into-

right and left halves.
(A) Medulla oblongata
(B) Diencephalon
Corpus callosum
Longitudinal fissure
Questio'ny not attempted
~__ yafass (cerebrum) @ FW Tl
ad fewdt & gow weam B
(A) Hgam e
(B) s afkrssusg (Diencephalon)
(C) =" Harew
(D) oged f4=x (Longitudinal fissure) -
(B) orafa vea

D)

The presence of an infectious agent in an
inanimate article or skin surface, is called:

(A) Pollution

(B) Infection

(C)- Contamination

(D) Infestation

(E) Question not attempted
ol Tt a%g a1 = g% WX €HH FRH ar%
SRy &1 w1 e %‘ ?

(A) T

(B) deHuT (Infection)

(C) =g (Contamination)
(D) wwA (Infestation)

(B) | FIANT I

C34GNM-1] A

24

D)

4. TPV (vmddr)

G

©

GET IT ON
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Which of the following vaccines are

. recommended at 9 months of age, under

National Immunization Schedule?

1. MMR

2. PCV

3. JE (éhdemic areas only)

4. PV

Choose the most appropriate answer from |
the options given below:

(A)
®)
©)

1, .3 only

1, 3, 4 only
1, 2, 4 only
1, 2, 3‘4
(E) ~Quest10n not attempted

g STt wrEie % s Pt ¥ & Rew
Wﬁ9wa&mﬁéﬁ%&ﬁmm@mzﬁr
LER |

1. MMR (Ta.07.8m.)

2. PCV (@)

3. JE (34) (raw e At )

W R e Rt & @ TR S O @
T BT

T 1, 3

Faw 1,3, 4

ml,z,A

1,2,3,4 |

SRR wed

B)

o)
®

[P.TO.
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25  Select the basic food groups suggested by | 26 | APGAR score is taken at'1 minute and 5
the ICMR. minutes after birth to:

1. Pulsesrand legumes (A) Assess the cognitive development of
the baby. - '

(B) Evaluate the ov
being of the

2
3
4,. " &
5 (C) Measure birth weight

Fruits‘x and vegetables

Choose the most appropriate answer from | - (D) Determine ng@ther s post partum
recovery

(E) Question not

APGAR &K 97
e &g forn sam ®

34GNM-1] A 8 [PTO.
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28 Human Eye has the capacity to see objects | 30  Match List I with List II:
placed at different distances from it. This is

done by the action of: - List 1 List T
(A) Retina | “a. FEthylene oxide

(B) Pupil

(C) Cornea

(D) Ciliary museles | , | b. Plasma
(E) Question not attempted " sterilization
gzﬁ ;ﬂz 3 @ ﬁiﬁg‘;ﬁq; a %Egﬁ % 21 ¢. - Glutaraldehyde  IIL: Environmental
foren & 9T G T ¥7 |
A
) d. Phenol
(B)
© gt [ % g gl 1 @
(D) fafrrd wieRfiw @I
(E) 7,
a.

29  Which of the fdl ‘,ﬂé)wing hormones increases
the basal metab‘ 1c rate of the body? .

>

(A) Follicle Stlmuka‘tmg Hormone

(B) Thyroid Stimulating Hormone

(C) Thyroxin Choose the correct answer from the options

(D) Tyrosine given below:

\ (E) Question #ipt attempted % frw o Famm‘r ¥ YT W 7 T BT
Prefied & & ﬁa | e QIO @ el | ~ :
IUTIEE! 3T (basal metabohc rate) %l SEwT S ° (A aIL b-IV, e, d'HI
(A) B) aL b1V, c-I, d-I
(B) (C) alV, b, cI, d-
©
(D) a-1V, b-III, c-I, d-1
D) ‘ . | 29 ! '
(B) i 9+ | " (B) Question not attempted / SaRT U9

34GNM-1] A 9 | [P.TO.
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31  Which of the following cancers ate includéd 32 The Méntal ‘Health Care Act 2017 was
‘ in NPCDCS screening? - implemented on:
1. Lung Cancer . ' (A) July 7, 201,6
2. Breast Cancer (B) July 7, 2017
3. Cervical Cancer | (O Juy7,2018
4. Bone Cancer‘- | (B) luly 7, 2019 v
Ordl Caticer (E) Question not attempted
Choose the correct answer from the optlons TR ?W G ‘D’T&‘Tﬁ'qq 2017 &= W’l
given below: _ | | B AT
A) 1,2,3,4and5 o @& gt 7, 2016
(B) 1,2,3and5 only | (B) g 7, 2017
(C)° 2,3,4 and 5 only | (C) e 7, 2018
(D) 2,3and 5Sonly (D) W 7, 2019
- (B) Questlon not attempted Yy a (B) ergafea us
ﬁmﬁrf@aﬁ%%am%%mﬁNPCDCS
ehfti ¥ aftafwa Rear i %7 33  Fluid filled cavity in the tertiary follicle is
‘ , - : called:
1. %Wl & HE
' (A) Hydrocoele
2. wWT HEC
' (B) Antrum
3. — : :
THisTE-HET HET © Coslom
L | | | (D) Medulla
5. g@ Hut ‘ E) Questlon not attempted
e g g foreedt 3 | W I B A AT Wgwﬁmﬁwﬁﬁmﬁwm%?
(A) 1,2,3,485 - (A) w@er (Hydrocoele)
(B) Faw 1,235 ‘ (B) T&aT (Antrum) ’
(©) %ﬁaﬁ234aﬁ"(5 | - (©) uE
- (D) mzsaﬁrs ‘ © ] D) s
- (B) orgaia usA . B (B) sigaRa usw

C34GNM-1] A | 10 | [PTO.
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Aluminium is used for making‘ cooking
utensils. Which-of the following properties
of Aluminium- are: responsible for the same?

conductivity

1 conductivity

1, 3 and 5-only
1 and 5 iny

A
(B)
(©)
D)
(E)

34GNM-11 A\ 11

35

36

(B)

GET IT ON
Google Play

All of the following are major symptoms of
Schizophrenia except:”

A)

Obsessions v

Hallucinations
(C) Delusions
D)
(E)

freafafaa & &
Rt & W@ @@ €

(A) =R
B)
©
D)
(E)

Cognitive symptoms
Question not attempted
% arfatead ad

BRI
s o

SRR 9T

Which quahty of ricesis developed through
genetic Engineering?"

A
(B)
©)
D)
E)

ﬁw@rmmaﬁmﬁmmﬁmﬁiﬁm
foepfaa fopar mam 32 0

(A)
(B)
©
)
(E)

Brown rice
Black rice

Golden rice
Jasmine rice

Question not atfempted

EUCIE
HIT GrEd
HIGCEECICR
NEGIERGIEG

A 997

[PTO.
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39  Which of the following drugs are used for

37 Which of the following is the correct option

for NTEP?

(A) National Tuberculosis Eradication |

the treatment of Leprosy?

Program 1.  Rifampicin

(B) National Tuberculosis Elimination 9. ' Dapsome
~ Program ’

(C) National Tuberculosis Escalation 3. Pyrazinamide

Program x

. . . fazini

(D) National Tuberculosis Effective 4 Clofazinie

Program 5.  Bedaguilline
(E) Question not attempted ' .
NTEP % frw frer & & o) foree @ 27 Choose the correct answer from the options

(A) AE S[EREIATTE TUSHIA T
(B) e ZEREGEITE T g
(C) e YGRS TEhae™ T
(D) Ay S[EEgERE ghed W
(B) i@ wss

given below:

(A) 1,3 and 5 only

B) 1,2 and 3 only
(C) 1,2 and 4 only

(D) 1,2,4and5 only

38 Match List I with List II: (E) Question not attempted
List I List I
(Disease) (Mode of Transmission) frfofaa & & 67 gamed 1 Swm Fsav &
a. Malaria I. Air IyeTt &% g Rear sar &7
b. Hepatitis A II. Sexual '
c. Measles II. Water L. PR
d. Hepatitis B IV. Mosquito 2. twm
g 1 % g g 11 & frems df ,
T T (@) T 1 (@ a5 ) 3. WrETRETES
a. wWEr L 4. BN
b. ¥Wegew A II. «fee
c. @& L o 5. wiieeia
d. ¥eEew B IV. 7= I frw Ty Fyenedt § & ot IO @1 99T DT

34GNM-11 A\

Choose the correct answer from the options
given below: -

A Ru 7o Rl § & 98 sA¢ @ uaw At
(A) a1V, b-L, ¢, d-11
(B)  a-IV, b-TIL, c-II, d-I
(©) all, b-1V, ¢, d-I
(D) a1V, b-IIL, ¢-I, d-II
(E) Question not attempted / SIFART T

12

(A) Faw 1,3 TS5
(B) Faw 1,2 3R 3
(C) %aw 1, 2 o 4
(D) ¥aw 1,2, 4 TS
(E) oaRa 97

[PTO.
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40  Identify the role of clinical / medical nutrition | 41  Match List I with List II:

therapist from the following: , List ¥ List II
. . . . hral Disch L Y i
1. Recommending high energy diets to a Ure‘?_ al D;ISC arge ellow _Klt
HIV patients b. Vaginal Discharge II. Grey Kit
b ) c. Lower Abdominal pain IIl. Red Kit
2. Recommending therapeutic diets for d. Genital ulcer IV. Green Kit
management of diseases. ' Cg@ 1% e g 1w R i
3.  Nutritional management of patients. T 0 B L |

a. e fawge fawst J R 1O 7T
b. @it fowes forast= II. o fee

4.  Plan diets for spoi’ts persons.

Choose' the I’l:lOSt :pfropnate answer from c. Prer wriig od 1L & Rz
the options given below: PR ——— V. =5 e
(A) 1 and 2 only Choose the correct answer from the options

given below:

g R o femedl § @ € SO @ T9E BN
(C) 2 and 3 only y | (A) a-IV, b-l, c-III, d-IT -

(D) 1 and 4 only B) a-L, b-1V, c-1I, d-1I

(C) a-i, b-1V, ¢-1, d-III

(D) a-IL, b-l, c-TV, d-TII

(B) 3 and 4 only

(E) Question not attempted

frfefen & @ fafeeema smert fafhes @t (E) Question not attempted / s¥afta wed
ittt TeE - | ’
1. HIV QR % fw s ot Eﬁl?ﬁi amerc | 42 Smartphones are:
% fre ey ST ‘ (A) those phones with highest speed
I (B) those phones where only calculations
2. O % wewuw & fou Sumrad emew @ | can be performed
FFLTEr HE (C) small sized phones
i . D) which can access internet and send e-
3. O T amETe W : v mails and faxes in addition to other
4. faafedi ¥ o e RrisE w0 basic phone functions
. ' (E) Question not attempted
:ﬁﬁﬁqwf%ﬁﬁﬁfrﬁa‘aémaawm e
AT BT | (A) weaem s aw BH
(A) %aw 1 s 2 (B) @& WM R IR b o /afeme fea
| S W 2
(B) %= 3 3l 4 | | C(©) B e a w |
(C) e 2 &fiT 3 | (D) o % 210 w1 % o B & wu-EE
(D) e 1 & 4 E'T{ﬁzg%méamaéﬁﬁam%wﬂ%
, S T 2 ‘
(E) STaRa usT ' (B) st 997

34GNM-1] A\ - | 13 - [P.TO.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

43  Which of the following statements are true

for G20?
1. The Mott
One fami
2.  Los Angl
. of G20
3. European Union has become the full

member of G20 on 9t September 2023

Choose the corréct answer from the options
given below:

(A)
(B)
©
D)
(E)

2 and 4 only
1 and 2 only -

1.

34GNM-1] A\

14

GET IT ON
Google Play

44 The male accessory glan )

1.  Paired seminal ve
2. Prostate gland
3. Ampulla
Paired bulbourethral glands

-4

Choose the most. appro ;te answer from
the options given below

(A) 1 and 2 only
(B)
©
o
®)
e A P A @ @ ahh €7
i et
st

S (Ampulla)

2 and 4 only

1, 2 and 4 only

2, 3 and 4 only

Question not attempted

I BT

.(A) Faa 1 R 2
(B) %aw 2 afiX 4
(C) Fawm 1,2 e 4

(D) ¥aw 2, 3 3T 4
(E) oIgafta ued

[P.T.O.
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45 Sanitation barriers to interrupt contact

between faeces and mouth are:
. 1. Fingers

2. Flies

3. Food
4 Fih

5. Fluids

.. Choose the correct answer from the options
given below:

(A) 1,2 and 3 only
(B) 1,2, 3 and 4 only
2,3, 4 and 5 only
(D) 1,2,3 and 5 only
(B) |
oW a0 q@ % 99 O ¥ eewdw W@ AW
wear Qs &

Question not attempted

2. wfReat
3. WeE |
4
5. wem wErd

-l fg Ty e & ¥ w9 T w T B
(A) W1,2aﬂ13

“(B) ¥aw 1,2, 384

(C)_: e 2, 3,4 TS

.-(D) et 1,2’,3@?@5

o (E) . sqaf@a us

34GNM-1]1 A\

46

47

15

)

(D)

»
B)
(C)

()

GET IT ON

Google Play

Which of the following mosquitoes is

" responsible for the transmission of Japanese
- Encephalitis?

(A)
®

Aedes
Anopheles
(C) Mansonoides
Culex |

Question not attempted

(E)

'.ﬁ%ﬁ@ﬁﬁwmﬁmﬁm%
(A T
(B)

gATAT
coc A
- argatE e

©
(E)

In the new Parliament House the interiors of
the Rajya Sabha are designed with a
theme.

Peacock

Swastik

Lotus

(D) Rose

"Question nét attempted

Ty gHE Wad Wwaﬁaﬂaﬁﬁm )
‘ ey 9T smaiiE &) '

(A) Ar |

(B) w@fa®

©) @

D) T

7(:E) Faa usd

- [PTO.
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48 Match List I with List II: - 49 Arrangé the given components of reflex arc
. ) ) from the beglnmng to the end.
List I (S ucture)' List ﬂ (Function) 1 Effector &
I. Common passage 2. Sensory n
‘ 3. Mot
of food and air otor ne @n ~
4 Sensory receptor -
II. Prevents entry of 5. Integrating ¢ '
yitrerd =9 % few g Tl B W ¥ ofd % e

food into the 2hS
o iy |

larynx 1. @t (Bffector)
III. Sound production

IV. Covering around

3
]
i

lungs - THIHAT B Integrating‘centre)

Choose the correct:answer from the options
given below:

ﬁéﬁqwﬁmﬁéaﬁwmwaﬁrﬁm .
(A) 4,2,5, 3,¢)y
(B) 2,4,5,3,1:
©) 4,52 1,3
M) 1,4, 3,5,
(B) Questlon not attempted / ARG 997

50 , blood bag is discarded

(©) Yellow
(D) Green &8
(E) Question not attempted

Wéﬂaﬁrmw%&

(B) 'a-I\%' b-III, I, d-I

W““,

©) a—II’*wb I, ¢-IV, d-1

(D) a-IIl) ?o-IV, c-I, d-II

(E) Question not attempted / S@ﬁﬁ s

34GNM-11 A\ 16 ) ‘[P.T.O.
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51  Which of the following is NOT absorbed | 53 Arrangé the following stages of Nursing

by the stomach? _ Process in order of occurrence:
(A) Alcohol . ‘ 1.  Assessment
(B) Monosaéeharldes 2.  Planning
© 3.
(D) 4.
(E) 5.

52 Match List I Wﬁlﬁl List II: Choose the correct answg%‘ from the options
o given below:

List I (Fort) List IT (Built by)
a. Fort of Bayana 1. Maharaja Sawai e feg  ferpet & @ E_E’pr T H AT BT
‘ “Jai Singh (A) 3,2,5.4,1 '
b. Fort of A II. Ajay Raja B) 4.2,3,1,5
‘ ‘ Chauhan < 1,3,42,5

c. Fort of Tardgarh III. Raja Maan Singh . (D) 2,5 1,3,4 |

d. Fort of IV. King Vijay Pala (B) Question not atte éted / aﬁﬁﬁ‘d LER
Nahargarh * : )

A 1% HTQ‘T Q@ Il 1 fererrer W : 54 Which of the followmg games for 2028

el T 1T ( Olymplcs have been rel ‘

‘a. U @ I mwﬁm% (A)

b. e fone IL o™ T 9es (B)

c. A w fpar 1L TSI WERE (C)

d. wecTe @ R IV, o fewm o D)

Choose the correct answer from the options (E) Question not aﬁeiﬁ})ted

given below: ;- 10C % Freifiifaa & & aﬂ'vr ¥ Qi B 2028

A fog g Rreedi F @ @€ ST BT TG B

(A) c-IIL, d-1

(B) -1, d-III

© c-1II, d-1

(D) o, &1

(B) Questionxk not attempted / STARG U

C34GNM-1] A o 17 | | {P.T..
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55 Whlch of the followmg orgamzatmns deals | 57 Place the route of blood flow through the

with child health? - .| Kkidney in correct order: -
l.. UNDP - 1. Renal vein
2. UNICEF 2. Glomeruli
- 3. CARA ' 3 Renal arte ‘
s cne 3 Retal ey
5.  WFP , 4.  Efferent arteriole
Choose the correct answer from the optlons 5. Afferent arteriole
given below: qw%ﬁmwﬁaﬁmm%wﬁeﬁrm‘
(A) land?2 - ¥ fe:
(B) tand3 - -
©) 2and3 ‘,1f IIE ﬁm
(D) 2and5 2. - Fhme
(E)  Question not attempted 3 ' 3. gF6 , :
ﬁnﬁﬁﬁﬁmmmﬁw%m 4. sy (Efferent) gt
. & %7 f
| ? wr | ?l%‘ﬁ (UNDP) 5. ofyeard (Afferent) it ‘

’ 1’!?[ P N Choose the correct answer from the optlons '
2.  gfmw (UNICEF) ~ '
3 AT (CARA) : - given below:

4. &A@ (CDO) ¥y iB %ﬁwiamﬁwmwwm- X
5. ssquedl (WFP) (A4 1,3,4,52
ﬁ%ﬁqwﬁmﬁﬁaﬁmmmaﬁﬁq B 3,»5,2,4,1

Ay taw2 | (©) 3,5,4,2,1

® 1ex3 - | O 241,35 |

(C) 243 - . .| (B) Question not attempted / AR WS
(D) 285 A ‘ | YOl | - 8 _ S
(E) FrgaRta  J : , -' | 58  The target cells of HIV vitus in body are:

(A) - White Blood Cells

56 Whlch of the f()llowmg is an mfectmus M S
(B) Red Bloodv’ Cells -

dlsease? . - } |
A Blood cancer : - : (C) Nerve Cells
(B) Haemophilia : * (D) Reproductive Cells
© Diabet.es : I ~ (E) Question not attempted
(D) Typhoid I o :
(E) Question not attempted o vHIV foremoy <t e Bfird A ﬁ' % ?
Prefofes & & dwws A BT W R? (A) v whr By
- (A) m%m(m%m) : [ . (B) @ wRT i
B) FEwRE - (C) < Hiftrend
._(Ic):) TgE () e B
EE)) mﬂaﬁﬂﬁ ﬁaw | ] ®) agaia g

'34GNM-1] A s o . [PTO.
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Which of the followmg is a recommended
dose of Iron for the treatment of mild
anaemia in Ante

A) 100 tablgts
(B) 100 tablets in'100 days
©

D
(E)
frafefaa # & i Afeenet ¥ #y Taedd
(mild anaemia) % IUER & AT SmRA o
arqsitea gaws %?

(A) 50 R & 10@7&&@‘ (tablets)
~ (B) 100 R # 100 wfera (tablets)
(©) 100 Rt ¥ 200 T (ablets)
(D). 200 f=i & 2 Mt (tablets)
E)

59

200 tablets in:100 days
200 tablets in 200 days

Question notiattempted

Which of the following is NOT the
indicators of healgfh?

(A)
- (B)
©
D)
B

60

34GNM-1] A

19

61

- 62

(©

(D)
)

GET IT ON
Google Play

Which of the folf{ﬁng is NOT a colour |
" coded chart under MNCIV '

(A) Red Chart

(B) Yellow Cha
Green Chart
Pink Chart ..,
Question not attempted *

D)
(E)

'IMNCI % sferta, ﬁ?ﬂrﬁ%aﬁ?m ERECHIER]

ae & ¥ ?

(A) w aR
(B) dmr =
(©) wuaER
D) Wﬂﬁ'
E)

ist II |
).; List II (Action)

a. Rhizobium. I. Baking of Bread

b. Lactobacillu II. Preservative
€. Yeast ooy 1L Fixing Nitrogen.
d. Vinegar A Setting of curd

e 1% i e B freaw aifwg
T I (W) Tt 11 ()
a. BT ¥5 (sEa0S) @
% wET
b, dwidfeg S lisicy
Cc O (TER) III wgama‘sﬁuﬂm
- . Hfm
d. fawar IV. =& &1 S

Choose the correct nswer from the optlons
given below:

i R g Foaet 3 & @l weC e R
a-111, b-1V, ' '
a-1V, b-IIl, o—«ls, d—II
a-III, b-1V, c-II d-I
a-II1, b-1, c-1V, d-II
Question not attempted / Gﬂﬁﬁﬁ LLS]

B)
©

 [PTO.
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63 Who has been appointed as Lokayukta of | 65 Which software is used for designing

Rajasthan in October, 20237 presentation on any project?
(A) Justice G. L. Gupta Frafafaa & @ @9 a1 diveeR fed afEsm
(B) Justice Pratap Krishna Lohra ® g w1 e w3 & fg i
, . , T ST & P
(C) Justice M. B. Sharma (A) MS-Word
(D) Milap Chand Jain (B) MS-Excel
(E) Question not attempted (C) MS-PowerPoint
Rewes arREER, 2023 ¥ USRI BT BT (D) MS-Access |
frger fpam T 7 (E) Question not attempted / STTANT U$7
(A) R S T, e |
: 66  Trace the path of the sperm cell penetratmg
(B) T WA FOT et the ovum.
(C) it wa. & gt 1.  Zona pellucida
(D) e I 2 Plasma membrane of secondary oocyte
3..  Cytoplasm of secondary oocyte
(E) 3 T 4 Corona radiata
5. Perivitelline space
64 Disease control describes all of the following 9JFb TIIYTET BT SIS A6 b T ?ﬁ REEELRC
except ' Zafad HY
(A) Incidence of dlsease 1. ursft sfsreer (Zona pellucida)

2. Tadae gEwgel o« e (Plasma

" membrane of secondary oocyte)

3. & gmegdl w1 sitmmss

(B) Effects of infection
(C) High risk strategy

(D) Financial burden to community 4. g Brle (Corona radiata)

(E)  Question not attempted 5. uftqas wer (Perivitelline space)

A P fe g | & aﬂ%{ﬁéﬁr, TTHY Choose the correct answer from the options
EECARCERU RIS given below:

%mmﬁmﬁéaﬁwwmw
(A) 3,2,4,1,5
' B) 4,1,5,2,3

(A) O @1 IR SET

(B) HHUT & THTE

(C) w= Sifem =it g - ©) 1,4,53,2
(D) e T anfde S D) 5,2,4,3.1
(B) orafia 9e ~ (B) Question not attempted / SR U

34GNM-11 A 20 . [PTO.
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The sequencé of methods to be followed
during the health assessment of the lungs is:
(A) Palpation, Auscultation, Percussion,
Inspection ’

Inspection, Auscultation, Palpation,

Percussion

(B)
(C) Percussion, Auscultation, Inspection,
Palpation :

Palpation, Ausculitation, Inspection,
Percussion

D)

Question not attempted

(B

YES B @ HT FHAT HLa gud i &

FTETOT T HH T B 7

(A) @k, ufvgeor, omam, Frieo
(B) Frde, aftsemr, @, smad
(C) o, ufesreor, friieor, wst
(D) sk, afesreor, Fréer, smema

(E) orgaia 97

Why is breast feeding recommended by the
doctors during the initial period after birth
of new-born babies?

(A)
(B)
©
)

Colostrum provides active 1mmumty
Colostrum contains antigens
Colostrum contains antibodies

is rich in proteins and carbohydrates
(E) Question not attempted

Tqara g & 9 & 9§ yRbsew oty o

Taftreee! a0 WU & SeEr w @ T8 &7

(A) HErEH 9ipg AUEHar Y&« B ¥

(B) ®irezn & W (antigens) wre @ ¥

(C) wirgd ¥ wRieel (antibodies) Trq /R
(4

(D) untfives @ ¥ afq 39 9@ Y ¥ WA

a7 HETEEST UYL W A T W ¥

(B) oaia usd

34GNM-11 A\

Milk produced during the initial periodA
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69

70

GET IT ON
Google Play

Who built “Tribhuvan Narayan temple” of
Chittorgarh?

(A)
(B)
(©)
(D)
()
ferchems @1 g T AR frwd ST
g deT

Prithvi Raj Chauhan
Maharana Pratap
Parmar Raja Bhoja
Maharana Kumbha

Question not attempted

(A)
(B)
©)
D)
(E)

AT T 9T
HETTOM H#T

S GIEGIE

Who is appointed as Central Chief
Information Commissioner of India in 20237

A)
(B)
©
(D)
E)

Wzo%ﬁrwmﬁug@uwa@a
Frgerr fomar mar %7

(A) o e

B) ww Prare fier

(Cj TH. UH. @Y

(D) it T wEEn
(E)l AR UsT

Bimal Julka

Ram Niwas Mirdha
M. L. Lathar

Shri Heeralal Samariya

Question not attempted

[PT.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

- 71 Identify which of the following reactions will | 72 Which of the followmg%ls /are NOT a part

- take place: of determinants of he

1. CuSOy + Fe 1.  Aging populatio

2. AgNO; + Cu 2. Quality of life

3. 'PbCl, + Cu 3. Biological determinants

4, CuSO, + Zn 4, Socio-economic condition

5. NaCl + Cu 5. Health services

Choose the most appropriate answer from Choose the most appropriate answer from

the options given bel

(A) 1,2 and 3 only (A) 2 only
(B) land2only *° B) 4,5 only
(C) 1,2and4only. (© 1,3, 4 only

(D) 2 and 4 only
(E)  Question not attempted

Prefefaa & 4 @B & sl wwg 2
1. CuSO, + Fe

2. AgNO; + Cu
3. PbCl, + Cu
4. CuSO4 + Zn
5.  “NaCl + Cu

A P e Rt {ed suge s 0 Rl 3 9 e g o
AT BT : T R

(A) Faw 1, 2 o (A) o 2

(B) % 1 &Y 2 (B) ¥aw 4,5

© ¥ 1,26 ©) ¥aw 1,3, 4

(Dy %o 2 o4 (D) ¥aw 2,3, 4,5

()  orgafer we | (E) ermia a9

34GNM-1] A\ | 22 s [PT.O.
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Which of the following will be determined
by palpatory method (without using
stethoscope), using aneroid
sphygmomanometer?

(A) Systolic BP

(B) Diastolic BP »

(C) Systolic & Diastolic BP both |

(D) Capillary Pressure

(E) Question not attempted

el fafr g (RUrERT w1 sd Rey )
fter Repreidintiex w1 wwai @k, P F @

an

= Praffa dm? |

YHaT o a9 (Systolic BP)
e @ @@ (Diastolic BP)
g e SRR, 2 e a1 (Both)
HIITHT TS

ST Ha

(A)
(B)

D)
E)

Which one of the following age group is
considered as ‘Adolescent Age Group® by
WHO?

(A)
(B)
©
D)
(E) Question not attempted

Frefafea & @ e omg @t & WHO (Rism
W W) grq fnsiraerer oy il T
SR 7

(A) 10 - 18 g¢

B) 13-19 99

(C) 10-19 ¢

(D) 12 -18 =

B) omuia 9

10 - 18 years |
13 - 19 years
10 - 19 yéars
12 - 18 jfears

34GNM-1] A
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©

GET IT ON
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Which of the following are accessory
digestive organs?

Pancreas

Small intestine

Gall bladder

Stomach

Tongué
" B T erd urad o ¥ 7

1 IR
2. By oera
3. frmm
4
5

1.
2.
3.
4.
3.
ot

SIHIRTT

et

Choose the correct answer from the options
given below:

T faw T ferepea & & wéY TOT @ T At
(A 1,3,4

B) 3,5

© 1,5

@) 1,3,5

(E) Question not attempted / SR 99

The endocrine function of pancreas is

performed by:
(A)
(B)
©
(D)
(E) Question not attempted

TS B USIREA BTE % FQ Rea
SIS :
(A) TIHBE BITHT

(B) g Hifdres

G ST AT

AT us

Acinar cells

Follicle cells

Islands of Langerhans
Islets of Langerhans

D)
E)

[P.T.O.
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The method which is generally more
effective in changing human behaviour is;
(A) Counselling '

(B) Focus group “discussion

(C) Mass media
(D) Lecture )
(E) Question n

NVBDCP?

1 Malaria
2. Kala-Azar
3. Japanese Ence
4 Plague

5. Tuberculos
Choose the corre
given below:
(A) 1 and 2 only:
(B) 1,2 and 3 éhly

(C) 1, 2,3 and 4 only

D) 1,2,3,4 a@hd 5

(E) Question n@’ﬁt attempted
ﬁﬁﬁ@ﬁﬂ%‘@ﬁNVBBCP%W%?

swer from the options

(A) Faw 1 s 2
(B) ¥ 1,2
(C) ¥aw 1, 2, 38t 4
D) 12343?%5

(BE) st e

B) all, bl

24

GET IT ON
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79 Match List I w1th List II:

List I ist I
a. Food. Constituents in food
that must be supplied
to body in suitable
: amounts. ~
b. Balanced- Science of foods,
diet nutrients and other

substances they
contain.

. Any thing solid or
liquid which when-
swallowed, digested
and assimilated
provides body with
essential substances
to the body.

d. Nutrients jLV. Variety of foods in
adequate amount and

" correct proportion.

¢. Nutrition

T L% a I &1 e By
w1 T 11
a. W qee o SaTd ac
S 9T T IUgR HAEN
¥ e & T
b. dgfa . WIS H1 T, dive T
JTETT qerr T oTite ar uare |
c. o . &g o1 3 91 g uad
st frem, TR
wiiiesTor & §1E 9T ol
o AT T YA H@T |
d. v T

A fog T
(A) a-lIIl, b

(C) alIl, b-IV eI, d-I

(D) a1V, b-1, I, d-III
(E) Question not attempted / sIaRa 9sw

[P.T.O.
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80 Food materials containing fat / oil become

81

34GNM-11 A

rancid because of:
(A) The oxidation of fat / oil of food
materials
(B) The reductiof-of fat / oil of food
materials
(C) Decomposition’ of fat / oil of food
materials
(D) Displacement=of fat / oil of food
materials
(E) Question not mpted
w/%aﬁwm&%ﬁm@rﬁﬁmﬁ
I
(A) @ gl § 'cTQTr/ AT P YT F BIW
(B) @ vere § 991,/ 4 % FIEET F BROT
(C) @ vared o a9 & fages & Hrw
(D) @ ugrt ® T %ra%sf%lwm%am
(B) orgaia ued
Preventive Psychiatryideals with
1.  Prevention of i ental illness
2. Prevention of physical illness
3. Promotion of mental health
4.  Promotion of physical health
5. Prevention o cial illness
Choose the correct answer from the options
given below:
(A) 1 only
(B) 3 only
(C) 1 and 2 only
(D) 1 and 3 only
- (E) Question not attempted
ﬁ‘r% faq W ﬁaﬁtﬁ T Y @ v W T
I
(A) Haw 1
(B) %aw 3
(C) ¥aw 1 &g 2
(D) wEe 1 @3
(BE) gaf@ e |
25

82

83

GET IT ON
Google Play

Match List I with List II:

List I List II :
a. Tertiary L. ~ Early stage disease
b. Primordial ~ Last stage of

~ disease

¢. Secondary - Specific causal
factors
d. Primary JAYS Underlymg economic

s+ social and
" environmental
condition leading
= t0 causation

a-1T1, b-1, c- Lu d-IT
a-I1, b-1V, c;k d-1II
a-I, b-1Il, c-Ii, d-IV
a-1V, b-Il, c- IH d-1

(A)
(B)
©
®)
(E) ¢
Which of the following is. NOT an Artificial
Intelligence (AI) personal digital assistant?
(A) Siri
(B) Google Chr
(C) Cortana ™
(D) Alexa 5
(E) Question not attempted
Preafifta & & wav-gfm s (AD) wfwm
137

A)
(B)
©
)
(E)

[P.T.O.
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84  Match List I with List II:

85

"List I

(B

(A) 2 only

List II

a. Bicep Reflex I.  Tongue blade
b. Gag Reflex II. Babinski sign
c. Planter Reflex III. Taylor Hammer

d. Pupil Reflex IV. Light

o 1 % g g4 11 &1 R s

T 1 - i | .

a. fufyrees wfad 1 foven wew
(Bicep Reflex) -

b. 1 wfrered . 3w fam

c. Tow 4 yRygd 1ML I@X 39X
(Planter Reflex)

d. gawr wfrad IV. warst

(Pupil Reflex)

Choose the correct answer from the options
given below:

A g o feedl § | Wl SOX T 99 BT
(A) a-lV, b-11, ¢-I, d-1II

B) a-I, b-1V, c-HI, d-1I

(C) a-Ii, b-III, c-1V, d-1

(D) a-I, b-1, ¢-I, d-IV

Question not attempted / SRR 75T

Which of the following is/are NOT a cause
of neonatal mortality?

1.  Low birth weight

2. Congenital anomalies

3.  Diarrhoeal diseases

4.  Malnutrition

Choose the correct answer from the optxons
given below: :

- (B) 1 and 2 only
(C) 3 and 4 only (D) 4 only

(E) Question not attempted

R N Y B 91 oSt q AT H1 wReT E B/

1. = o= 91X

2. mﬁﬁwﬁm

3. T T

4.  HAWT o '
A9 e g el ¥ W w9 Suged IO @l
T BT '

(A) w2 (B) e 1 oiiv 2
(C) Fa@ 3 a4 (D) Haw 4
(E) orgaia usA

34GNM-1] A
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- (B)

GET IT ON
Google Play

Identify the incor’rect pair from the
following :

(A) Gandhi of Rajasthan - Gokulbhai Bhatt

(B) Loknayak of Rajasthan - Jai Narayan
Vyas

(C) Iron Man of Rajasthan - Damodar Lal
‘Vyas

(D) Meru Kokila of Rajasthan - Banno
Begum
Question not attempted

e o @ e g™ @ wsEig

(A) TSR W M — MHA WE g

(B) TSR &1 @HAES — wT AT A
(C) TTEI™ W1 e GoW — FHIG W AT
(D) IoRET W TS FiRAT — EF*‘ﬁéqu

(B) owala us

Which of the following can be used for the
diagnosis of diabetes?

1. Fasting Blood Sugar < 110 mg/dl
2. Fasting Blood Sugar > 126 mg/dl
3. Random Blood Sugar > 200 mg/dl
4.  HbAIC < 5.7 _

Choose the correct answer from the options
given below:

(A) 3 and 4 only

(B) 1 and 4 only

(C) 2 and 3 only

(D) 2 and 4 only

(E) Question not attempted

Frafafaa & & feaw swar 7gaE & Ffem &
g fomam T HHaT 57

1. @l 92 @ T < 110 mg/cu

2. Tl YE @ T > 126 mg/dl

3. g (Random) & 9T > 200 mg/dl
4. HbAIC < 5.7

e o T ferpedt W @ WEY 99T w1 AN it

Haer 3 &K 4
FHaw 1 i 4
FHae 2 i 3
Fad 2 AT 4
HTART T

(A)
©
(D)
B

[P.T.O.
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Which of the following vaccutainers should
be used for post-operative glucose
assesment? &

(A) EDTA vaccutainers / Purple

(B) Sodlum Fluoride / Grey

(C) Plain ‘@accutamers / Red

(D) Sodium:t Citrate / Blue

(E) Question not attempted
FrafaRaa & | a1 JerpeT uva ored fafde

Which of following health care
been upgraded to health and

wellness centres? ’

1.  Sub-health Centres

2. Primary Health Centres

3. Sub district Hospitals

4.  District Hospitals

Choose the most appropriate answer from
the options ‘given below

(A) 1 and 2 only

(B) 1 and 3.only

© 2 and? .only

(D) 3 and 4 only
(E) Questlon not attempted

(A)
(B)
©
D)
B)

27

GET IT ON
Google Play

90 Match List I with List 1I:

91

List I List II

a. NISHCHAY I Non-Steroidal OCP
II. Steroidal OCP

. UPT kit

Injectable
contraceptive

= 11 %1 forer @i

= 11

L or-EeE &iErdn.
I |eEy g,
I g.dr2y. fme

IV. sfmaofr medfries

Choose the correct answer from the options

given below

e faw Ty
(A)
(B)
©
D)
(E)

P o wE 3T BT g BT

a-IIL, b-1, TV, d-TI
a-1, b-TH, c-TV, d-IT

Daughter cells formed by the cleavage of
zygote by mitotic division are known as:

(A)
(B)
(C)
D)

Mesoderm cells

w&raﬁf&m&ﬁﬁrwwm%?

(A) TSR BB (Mesoderm cells)

B)
©)
(D) drwepies @it (Trophoblast cells)
(E) '

[P.T.O.
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92 Match List I with List II: 93 Which of the following sputum samples
List I , List IT ’ should be collected for the diagnosis of
) pulmonary tuberculosis?
a. Mortality rate 1.  Population -
indicators bed ratio L= BEQHL sample |
b. Morbidity II. Crude death 2. SPOT samples 2
indicators - rate 3 Early morning sample 1
¢. Nutritional III. Duration of stay 4.  Early morning samples 2
status indicators in hospital 5 No-sample required now
d. Health care IV. Height and ’ )

] ] Choose the correct answer from the options
dehve;'y | weight of given below: ,
indicators preschool children (A) 2 and 5 only
1% @y 11 =1 T iy -

Fﬁﬁ , o (B) 2 and 4 only
il | T I
‘ R (C©) 1 and2 only.
a Fg W EgEEd 1 OYAsE (SFeE)
, D) 1 and 3 onl
o & (bed) 1 (D) 1and3 only
E uestion not attem ted
ST ® Q p
b. T wgEws 1L asifa (Crude) PHpE! TAfew (pulmonary Tb) & Fram % frg
| 4% & AU HY THA HE ARG ?
qg X
c. TWo WX dgEe [l orwaw o @A @ . g @@ ¥ w
. arafy 2. fagdw
d. wmem @ IV, stemgd (preschool) 3. i w99 &
ferereor degEe Sl SR g 4. urg: weE duw Q@
R 5. org Tt Suw @ smavamar W ¥
Choose the correct answer from the optlons . :
given below: e e w1 freedt & @ WY SO @1 TI R
e feg g et ® @ @2 39X @1 T it (A) %Few 29k S
(A) a-1, b-IV, c-11, d-1 (B) W 2 \?:?R' 4
B -11, b-111, c-1V, d-1
B a © (C) Faw 1 ot 2
(C©) a-l, b-II, ¢-I, d-IV '
(D) a-1V, b-l, c-II, d-11 : (D) 1o 3
(E) Question not attempted / TFaRa w7 (E) orgafa =

34GNM-1] A 28  [PTO.
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®

Where clean water is not available for
preparation of ORS, the contents of the
packet are dissolved in :

(A) Boiled water

Boiled and cooled water
(C) Normal drinking water
)
(E)

W W Suee 9 89 9y, ORS ¥9M & fag
Ipe ¥ & 7 gl o Read o o E 7

(A)
(®)
©
(D)
®)

Distilled water

Question not attempted

IAT AT I
HRT U ST
YT 5

SR SIRGIES ]

A family in which either one or both the
parents are NOT available to the children is
known as: ’

(A)
(B)
©)
(D)
(E)
ar ufar frad @ a1 & & sfsras st
P wuEr T T, T Fe ¥
(A) T aRaTt |

(B) wga wfam

(C) wweaTTs i

(D) R aiEr

(B) oraia 9

Broken family
Joint family
Problem farﬁﬂy
Extended family

Question not attempted

96

97

29

GET IT ON
_ Google Play

Glycosuria and ketonuria in urine are
indicative of:

(A)
(B)
(®)
(D)
(E)
E BT qUT B A BT IR A et
Tha qar & 7

(A) wyHE

(B) wewiE

(C) b foear (T8 &M 7 HT)

(D) T Hepens (P8 & werd)

®) arg‘aﬁﬁ PEL |

Diabetes mellitus
Diabetes insipidusb
Renal failure
Renal calculi

Question not attempted

Before performing an abdominal surgery,

which instrument is used to prevent
irregularities in micturition?

(&)
B)
©
(D)
®)

3eT # g fafeer & @ qF gIOT F
srfraftraret @ U@ & T e SuwmTer w1

(A) g r SRl
(B) I @ BT
(C) T-ferer

(D) Treprer AAferent
(B) oraia ued

Ryle’s tube
Foley’s Catheter
T-tube
Drainage tube

Question not attempted

[P.T.O.
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What is clinical nutrition?
(A) Providing nutritional food to

underprivileged.

The specialised area of nutrition which

(B)

(C) The specialised area of nutrition which
deals only awith the nutrition of sports
persons.

(D) The specialised area of nutrition which
deals only with nutrition for obese and

, diabetic péfiénts.
(E) Question not attempted
(A)
(B)

©

D) W @ fafie & S haw Hew qar

TydE % ABEN S G § e ¥

(E)

Fallopian tubes are also known as -
(A)
(B)
©

e
'

Ampulla e
Vas deferens
Oviducts

(E)

30
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100 Which of the following schemes is/are NOT

related to infants?

1. RBSK

2. JSSK

3. NSSK
4.  RKSK

Choose the most appropriate answer from
the options given below:

(A) 1 only
(B) 2,3 only
(C) 3, 4 only
(D)
(BE)
o 3 & 1 & o Rigal %

Question not attempted

2. JSSK (@f.qg ?2‘6[35)

3. NSSK (uwe.ue. )

[P.T.O.
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